Total number of printed pages-4
-19 (3-III) INPC 3-1
2015

INDIAN PENAL CODE
| Paper : '3-'1
Full Marks : 80
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer Q. Nos. 1 &2 and any Fwe
Jrom the rest.

1. Choose the correct options in the blanks :
' 1x10=10

(@) Inter-territorial operation of the code
deals in Section ___ . (2/3)

(b) The germ of criminal jurisj)mdence
came into existence in India from the
time of —_— (Kautilya/ Manu)

e

- Private pen’éons assisting police u/s 42
Cr.p.C. wﬂl be protected under Section
- 'of the Indian Penal Code.
(78/76)
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(d)

(e)

.
<

Voluntary drunkenness is a factor to
be considered at least in
(three/two) types of cases.

To constitute a conspiracy under
section 121A it is that any
act or illegal omission shall take place
in pursuance thereof. (necessary/not
necessary) ‘ ’

The offences against the public

tranquility may be classified into
- Groups. (three/four)

(@ The Criminal Law (amendment) Act
2005 was assented by President on
. (11-1-2005/11-1-20086)

(h) In case of murder; evidence of discovery
of the sword at the instance of accused,
could be based for . {conviction/
non-conviction)

() In order to constitute theft
factors are essential. (four/five)

() The criminal breach of trust has been
defined in Section . (403/405)
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. - Write notes on :

2x5=10
(@) Origin of Criminal Law

(b) Private defence. '

(c) Sedition

(d) Suicide

(e) Criminal misappropriation of Property.

Discuss the rmaxim “actus non facit reum .
nisi mens sit rea” in relation to crime.
12

Oor

Write the following with suitable examples.
6+6=12

(@) Common intention
(b) Common object.
When a person can take plea of private

defence ? Discuss with its justification and
limits. T 6+6=12

Or

Discuss and illustrate — “Nothing is an
offence which is done by a child”.
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- 5. Discuss the provisions with regard to
offences relating to the State. 12

or
Explain the offences against public

tranquility.

6. Define hurt. How will you determine grievous
hurt ? Discuss the hurt designated as
grievous one under IPC fully. 4+8=12

Oor

What are thé exceptions of defamation. Write
them briefly with essentials of defamation.
: 12

7. Write a note on offences against property as

found in the Indian Penal Code. 12
| Or

Write the following : . 6+6=12
(a) Criminal breach of Trust ‘
(b} Dacoity. /}

f‘ i

vi
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